ARNTEREFSREHFEHT - AOKEFR

FR245 11 ARBRE
TR24%F11AXKH BE CIIZES
HEE 5 = H X5 HEHH 58 z 5
BAAEEAAQD 26,297 34,522 36,943 71,465 BAAERAAQD 26,260 34,495 36,934 71,429
SNEAERAO 186 238 235 473 SNEAERAO 184 238 234 472
KENMAB 26,483 34,760 37,178 71,938 KENHAB 26,444 34,733 37,168 71,901
BARAGFE#TE - AOKFE (IBARZRHET) BXRAGERHH - AAKEE (BB
THU I R R i e 5 & 3 FTH I 4 BR R i 8 z 5 (BH#) (BEH)
AR ;2 T hisk AR EHET 1,039 1,425 1,399 2,824 B — Al =2 246 301 333 634 X% HEH 5 z it X5 HE L3 T S
KiEHhisg Kig 771 888 942 1,830 . ¥ /N 122 165 176 341 HWmE—TH 792 905 1,018 1,923 wu&aE—THB 0 0 0 0
2 HT 75 Hh 15 PN ] 207 220 243 463 =H 108 146 154 300 H&EZ-TH 564 701 771 1,472 WILE=-THE 0 0 0 0
ZA T B Hh 3 N 850 980 1,056 2,036 A T S B 68 93 107 200 WE=TH 262 333 382 715 WILE=TH 0 0 0 0
TR s TR 1,005 1,233 1,362 2,595 KEf 196 252 248 500 WEMTH 198 263 293 556 WILEMTHB 0 0 0 0
T/ E i H/E 467 564 602 1,166 EEFE 18 27 28 55 WEATH 757 1,037 1,143 2,180 BWILERTHB 0 0 0 0
K2 A EELW 192 237 275 512 FAFTET 166 178 209 387 FENARTH 87 115 121 236 WILEARTE 0 0 0 0
ma 103 161 156 317 T Hh i FhTET 117 136 148 284 W&EtTH 183 251 265 516 wWLUEtTH 14 17 23 40
iR ithig iR 255 330 381 711 L FrHET 133 176 166 342 HES—TH 0 wWILE/NTB 0 0 0 0
AR s ZAR 1L 97 107 144 251 Fa ET 173 223 265 488 HEEZTH 223 314 321 635 WILEATE 0 0 0 0
XE 798 941 962 1,903 FaET 17 23 30 53 HEBS=TH 10 10 12 22 WILE+TE 0 0 0 0
dt 2 [E iz dzE 429 504 512 1,016 i = Hhig Fh T 35 33 48 81 HEEMTH 0 wua+—TH 0 0 0 0
ot B st i 162 203 190 393 BRHET 103 119 132 251 HESRTH 282 345 393 738 BWuE+=TH 0 0 0 0
i) i 186 219 230 449 % 79 78 103 181 HEBARTH 171 240 248 488 BWUE+=TH 0 0 0 0
4 this He 2,843 3,605 3,993 7,598 RifiFE 139 162 188 350 HEELTH 330 392 428 820 INEt 14 17 23 40
HZE A Hhis HES 1,650 2,086 2,279 4,365 AR o ERE—TH 52 58 68 126 HES/NTH 375 495 542 1,037 =1 10,967 15,274 16,126 31,400
ERAE S RiE)IS1~4TH 781 1,005 1,106 2,111 BRER_TH 285 339 374 713 HESNTHE 259 290 335 625
a2 & Ki2)I185~9T B 1,490 2,354 2,383 4,737 ERE=TH 42 63 66 129 AZN&—TH 338 421 468 889
W R A thig MWERE 2,100 3,109 3,216 6,325 il 63 61 74 135 KEZJNEZTH 100 126 138 264
XA iz HmxEA 2,089 3,098 3,126 6,224 ek 37 27 42 69 KEINEBZ=ZTHE 343 458 500 958
LA Hh i wIlE 14 17 23 40 it 39 52 58 110 KZJNEMTH 0
=11 17,528 23,286 24,580 47,866 hnyE R ER iz INGE 58 58 67 125 KENEBEETHE 239 409 393 802
INST 84 84 82 166 KZNEBATHE 564 821 828 1,649 (FH)
AARAERHE- A O£ (IHILEE) §4 5 85 94 110 204 R2NEETH 325 512 528 1,040 X5 s 4 5 % i
(LI EH 28 38 42 80 KENEBE/NTBE 362 612 634 1,246 mmEae—TH 166 219 235 454
1T I 4 BRI L 5 = &t HERE 103 115 132 247 KEINEATHE 0 mmE&e=TH 137 152 186 338
5 F st tisE 176 253 307 560 fit] W} 119 163 169 332 MWREE—TH 468 718 701 1,419 EMEXE=TH 142 164 194 358
[Fap il 388 561 581 1,142 TR 99 117 146 263 MREEZTH 118 182 187 369 AmEemTH 117 132 154 286
dt 3 E thig TEE 377 572 589 1,161 [ic] 48 54 62 116 MWRE=TH 236 346 376 722 EME&ETH 55 67 72 139
T E i MTE 643 884 924 1,808 HRIR Hhig H 31 35 42 77 MREMTH 262 368 390 758 mAMmXEaNTH 162 198 215 413
HEF 56 62 89 151 BRI 66 70 93 163 MWRERTH 254 400 411 811 mmEaetTH 150 202 216 418
=By | 8CI) 133 193 206 399 IhEF 73 87 101 188 MWMEENRTH 291 419 433 852 mmxa/\TH 185 231 255 486
B 220 363 385 748 mp 37 51 56 107 MWREETH 257 388 398 786 mAMXaEATH 185 226 241 467
e 42 44 69 113 L3 G 40 43 52 95 MWRE/NTH 214 288 320 608 mmEae+THE 184 222 239 461
+A1 53 78 95 173 E=3i 37 44 49 93 wmEE—TH 262 310 326 636 mmEse+—TH 251 313 336 649
EI\2 132 173 217 390 B/ 13 17 16 33 BEE-TH 358 536 521 1,057 mEmnEe+=TH 215 302 299 601
IRt &R i £33 78 103 137 240 N 5 6 6 12 BEXE=TH 326 521 519 1,040 mmEae+=TH 154 189 206 395
Eiha 54 76 84 160 Gl 31 47 46 93 mBEEMTH 265 401 421 822 mEmnEE+mTH 122 167 183 350
a5 98 138 146 284 BTF 20 31 29 60 BEERTH 328 518 538 1,056 mAnEae+aETH 136 189 175 364
15:6 145 174 193 367 4 2 ik ETFF 15 24 22 46 BESNATH 277 464 450 914 A5t 2,361 2,973 3,206 6,179
+tml7 69 90 89 179 * 12 13 15 28 BmEEtTH 273 348 351 699
LRt ithig EIA8 96 131 131 262 =2E 9 8 11 19 wmEE/NTH 0 0 0 0
tIRo 113 147 160 307 it 3 8 7 6 13 INET 10,953 15,257 16,103 31,360
ti\E10 89 111 137 248 K4 13 11 16 27
WEXN 29 30 30 60 it 29 44 53 97
= REX S 5 6 6 12 [R5 45 52 79 131
LR 66 49 63 112 FIN% & g Emxs 2,361 2,973 3,206 6,179
=11 3,062 4238 4,638 8,876 =1l 5,707 6,998 7,725 14,723




